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SNU 4190.310, 2018 ���̀¦

s� F�g��H

Due: 9/14, 24:00

Exercise 1 (10&h�) “}�Õª��”

Äºo��� ×�æ�¦1px Ãº�<Ær�çß�\� ņ|
�>� /ú�~�� ��6£§_� “}�Õª��”\�¦ OCaml�Ð &ñ
_�


�[j¹כ:

Σb
n=af(n)

}�Õª��_� ��{9��Ér

sigma : int * int * (int -> int) -> int.

7£¤, sigma(a,b,f)�Ð ³ð�&³
���� Σb
n=af(n)õ� °ú �̧2�¤. ✷

Exercise 2 (10&h�) “½+ËY�L” ��A�_� $í
|9��̀¦ ëß�7á¤
���H �<ÊÃº sumprod\�¦ &ñ
_�
�[j

:¹כ

sumprod(M, n, k) = Σni=1
Πkj=1

M(i, j).

7£¤, sumprod_� ��{9��Ér

sumprod : (int * int -> real) * int * int -> real

✷
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Exercise 3 (10&h�) “@/���³ð Û¼àÔa�A”

{9�ìøÍ&h�Ü¼�Ð >�e�� @/���³ð��H ¢-a���ô�Ç s���� ��Áº½̈�̧(complete binary tree){9�

m���. 2022 \O�×¼(�� hË>[þtõ� Õª @/���³ð\�¦ ��6£§õ� °ú s� &ñ
_�Ùþ¡_þvm���:

type team = Korea | France | Usa | Brazil | Japan | Nigeria | Cameroon

| Poland | Portugal | Italy | Germany | Norway | Sweden | England

| Argentina

type tourna = LEAF of team

| NODE of tourna * tourna

tourna\�¦~ÃÎ��"fF�c ñ\�¦s�6 xô�Ç 1	�"é¶Û¼àÔa�AÜ¼�Ð���8̈�K�ÅÒ��H�<ÊÃº parenize\�¦

���$í

�[j¹כ:

parenize: tourna -> string

\V\�¦[þt#Q,

parenize(NODE(NODE(LEAF Korea, LEAF Portugal), LEAF Brazil))

= "((Korea Portugal) Brazil)"

✷

Exercise 4 (10&h�) “�ÃÐ��f±	”

Propositional Logic d��[þt(formula)�̀¦ ��6£§õ� °ú s� &ñ
_�Ùþ¡_þvm���:

type formula = TRUE

| FALSE

| NOT of formula

| ANDALSO of formula * formula

| ORELSE of formula * formula

| IMPLY of formula * formula

| LESS of expr * expr

and expr = NUM of int

| PLUS of expr * expr

| MINUS of expr * expr
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ÅÒ#Q��� formula\�¦ ~ÃÎ��"f �ÃÐ°ú̀�כ¦ ëß�[þt#Q?/��H �<ÊÃº eval

eval : formula → bool

\�¦ &ñ
_�
�[j¹כ. ✷

Exercise 5 (10&h�) “�����Ãº”

�����Ãº nat ��H ��6£§õ� °ú s� &ñ
_�|̈c Ãº e����:

type nat = ZERO | SUCC of nat

¿º �����Ãº\�¦ ~ÃÎ��"f Õª ½+Ë/Y�L\� K�{©�
���H �����Ãº\�¦ ëß�×¼��H ¿º �<ÊÃº

natadd : nat * nat -> nat

natmul : nat * nat -> nat

\�¦ &ñ
_�
�[j¹כ. ✷
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